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QUESTION 1

An integration developer is using a Database Lookup primitive in a mediation flow. The developer wants to design the
flow in such a way any connection failure in the Database Lookup primitive is persisted and then the message
processing continues:

What is the correct way to achieve this in the flow? The developer must:

A. wire the fail terminal of the Database Lookup primitive to the input terminal of the Event Emitter mediation primitive;
wire the output terminal of the Event Emitter mediation primitive to the next element in the flow.

B. wire the fail terminal of the Database Lookup primitive to the input terminal of the Fail mediation primitive; wire the
output terminal of the Fail mediation primitive to the next element in the flow.

C. wire the keyNotFound terminal of the Database Lookup primitive to the input terminal of the Event Emitter mediation
primitive; wire the output terminal of the Event Emitter mediation primitive to the next element in the flow.

D. wire the keyNotFound terminal of the Database Lookup primitive to the input terminal of the Fail mediation primitive;
wire the output terminal of the Fail mediation primitive to the next element in the

flow.

Correct Answer: C

QUESTION 2

An integration developer wants to deploy an SCA module as part of an application. The SCA module uses an interface
located in a shared library. What must the integration developer do to guarantee the interface is associated with the
deployed SCA module at runtime?

A. Declare the shared library in the application\\'s JAR file.

B. Add a dependency on the SCA module in the dependency editor.

C. Add a dependency on the shared library in the dependency editor.

D. Edit the default bindings of the SCA module to declare the dependency.

Correct Answer: C

QUESTION 3

An integration developer wants to implement a mediation module that carries out a transport protocol conversion to
allow a JMS client to send messages to a Web Service as described in the Exhibit.

Which is one of the required steps to be performed to allow the interaction between the JMS client and the Inbound JMS
Export?

A. Set the \\'JMS Correlation ID\\' property to the value "send" in the JMS client.

B. Add a JMS property named TargetFunctionName in the header of the JIMS message with a value of "send".
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C. Implement a FunctionSelector class in the JMS client to select the \\'send\\' operation while sending the message.

D. Create a Service Integration Bus queue associated with the JMS Export with the \\'default forward routing path*
property set to the value "send".

Correct Answer: B

QUESTION 4

Refer to the Exhibit.

: [ selectvendor

@' T SampleQuoteExport 0 El Sanpleciots 14—
LA —
por e
@ Ef’ FlatFlelmpart

The Life Sciences department of a company is developing a drug discovery solution in which a SelectVendor service
(request-response) helps them choose between Vendor A or B to acquire drug samples. This service is called from a
mediation flow using a Service Invoke primitive. The response is written to a flat file before returning to the client,
invoking this mediation flow. The response must be received by the client in the same transaction. What should be the
values of \\'Preferred Interaction Style\\' at the client invoking this mediation flow, and the \\'Invocation Style\\' of
Servicelnvoke primitive within the flow?

A. Any, Any

B. Any, Sync

C. Synchronous, Async (with callback)

D. Asynchronous (with deferred response), Async (with callback)

Correct Answer: B

QUESTION 5

An integration developer is developing a mediation flow component to integrate PeopleSoft Enterprise. The integration
developer has identified WebSphere Adapter for PeopleSoft Enterprise for this integration. Which technology
specification is implemented by this adapter?

A. Java EE Connector Architecture (JCA)

B. Java EE Component Architecture (JCA)

C. Java EE Connectivity Architecture (JCA)
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D. Java EE Communication Architecture (JCA)

Correct Answer: A
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